
Second Drill
17
2

Get Ready
Get Set

GO !



12 + 8 =___________ 20

125 ÷ 5 =__________ 25

76 - 25 =_________ 51

20 × 25 =__________ 500



318599.6206 rounded to the 
hundredths place is__________

318599.62

MMXXII =______(Arabic number) 2022

11 × 23 =__________ 253

( )137 % = ________ common  fraction
2

3
8



The LCM of 12 and 8 is _________ 24

The sum of the two largest primes 
less than 20 is ________ 36

8 + 12 ÷ 4 =________ 11

( )266 % = ________ common  fraction
3

2
3



53 ´ 101 =___________ 5353

$4.35 plus 7 nickels =$_______ 4.70

If 48 § costs 64¢ then 36 § cost ___¢ 48

( )-
11 7    = ________
16 16

common fraction
1
4



63 =________________ 216

The volume of a cube with side 4 is___ 64

If x = 12, then 3x – 20 = 16

( )´
1 14     8 = ________ mixed number
4 4

135
16



How many elements are in the 
power set of {F, I, V, E,}?_______

16

152 + 452 =______ 2250

-24 ÷ 8 =___________ -2

5
11

.454545 . . . =____(common fraction)



If x + 10 < 8, then x <______ -2

Two fair dice are thrown. What is 
the probability that the sum of the 
two sides showing is 5?_________

4 pints =_________ ounces 64

5 ; .625
815 hours =________day

1
9



232 =___________ 529

12 × 22 =________ 264

1845 + 2018 =____ 3863

35 × 55 =________ 1925



75 x 24 = ___________ 1800

MCMLI =_____(Arabic number) 1951

11 × 47 =__________ 517

( )112 % = ________ common  fraction
2

1
8



312 =___________ 961

143 =________ 2744

95 × 98 =________ 9310

( )444 % = ________ common  fraction
9

4
9



1 + 2 + 3 + . . . + 15 =___________ 120

14 + 18 + 22 + 26 =________ 80

12% of 15 is 6% of________ 30

( )-
4 18     5 = ________ mixed number
9 3

13
9



2 + 4 + 6 + . . . + 20 =_______ 110

14 base 5 =________ base 10 9

3 base 4 + 3 base 4 =_____base 4 12

( )´
4 58     8 = ________ mixed number
9 9

2072
81



312 - 192  =______ 600

182 + 92 =______ 405

25 × 18 =________ 450

7
9

.777 . . . =____(common fraction)



The ratio, in cents, of 6 dimes to
3 quarters is  _______________

The number of days in March______ 31

600

5
12

4 ; .8
5

__________common fraction 
241 % =
3

=________576 × 626



2.5 minutes  =______seconds 150

111 yards =________ inches 3996

8 pints =_________ quarts 4

1
12

.08333 . . . =_____(common fraction)


